If A, B and C are the angles of a triangle, and
A B C
sec’ —+sec’ —+sec’=>m,
2 2 2

then

(A) m=2? (B) m=2° (c)m=2* (D) m=2°

Solution
A B C =«
We have, —+ —+—=—
2 2 2 2
A B z C C
stan| —+— |[=tan| ——— |=cot—
2 2 2 2 2

A B
tan — +tan —
2 2 1

1-tan étan E tan 9
2 2 2

ZtanétanE =1
2 2
2
Now, (tané—tan Ej >0
2 2

tanzé+taan+tan2 E—tan étanE—tanEtanE—tanEtanéz 0

2 2 2 2 2 2 2
. tan? é+tan2 E+tan2 c > ZtanétanE

2 2 2 2 2
. tan? é+tan2 E+tan2 ¢ >1

2 2 2

(sec2 g—lj + (sec2 %—1) + (sec2 %—1] >1

-.sec? g +sec? % +sec? % >4

Hence, (A)
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